Communications in Mathematics and Applications

Vol. 13, No. 3, pp. 1169–1180, 2022 ISSN 0975-8607 (online); 0976-5905 (print) Published by RGN Publications DOI: 10.26713/cma.v13i3.1715



Research Article

Boosters and Filters in MS-Almost Distributive Lattices

Yeshiwas Mebrat Gubena*1 [®] and Teferi Getachew Alemayehu²

¹ Department of Mathematics, College of Natural and Computational Sciences, Debre Tabor University, Debre Tabor, Ethiopia

²Department of Mathematics, Debre Berhan University, Debre Berhan, Ethiopia *Corresponding author: yeshiwasmebrat@gmail.com

Received: November 30, 2021

Accepted: February 4, 2022

Abstract. This paper deals on boosters and β -filters in MS-almost distributive lattice M. It is proved that the set of all boosters in M is a bounded distributive lattice. Characterization of β -filters of M in terms of boosters is established and a dual homomorphism of M and the set of all boosters of M is derived. Further, it is shown that every filter in M is an *e*-filter and every maximal filter in M is a β -filter. Equivalent conditions on which the set of all boosters is a relatively complemented lattice are established.

Keywords. Booster, β -filter, ADL, MS-ADL, Maximal element

Mathematics Subject Classification (2020). 03G27, 06B10, 06F35

Copyright © 2022 Yeshiwas Mebrat Gubena and Teferi Getachew Alemayehu. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

U. M. Swamy and G. C. Rao [10] introduced the concept of an *Almost Distributive Lattice* (ADL) as a common abstraction of lattice and ring theoretic generalizations of a Boolean algebra. In [10] it was proved that the commutativity of \lor , the commutativity of \land , the right distributivity of \lor over \land and the absorption law $(x \land y) \lor x = x$ are all equivalent to each other and whenever any one of these properties holds, an ADL becomes a distributive lattice. The notion of a pseudo-complementation of an ADL is introduced by Swamy *et al.* [11].

The concepts of Stone ADL and its characterization in terms of its ideals are studied by Swamy *et al.* [11]. Rafi *et al.* [6] studied δ -ideals in Pseudo-complemented ADLs.

A bounded distributive lattice that satisfies the property of dual endomorphism is called an Ockham algebra [3]. Berman in [2] introduced an Ockham algebras which contains an algebra called MS-algebras. The subclass of Ockham algebra that generalizes both de-Morgan algebras and Stone algebras is called an MS-algebra, which is introduced by Blyth and Varlet [3]. The class of all MS-algebras forms an equational class. The subvarieties of MS-algebras is characterized by Blyth and Varlet [4], and Rao [8] studied about β -filter of MS-Algebra. Furthermore, the concept of MS-ADL M is introduced by Addis [1].

Motivated by these results we introduce the notions of boosters and β -filters in M. The fact, the class of boosters in M is a bounded distributive lattice is proved. Characterization of β -filters of M in terms of boosters, and a dual homomorphism of M and the set of all boosters in M is established. Further, it is shown that any maximal filter in M is a β -filter. Finally, the conditions on which the lattice of boosters is a relatively complemented lattice are established.

2. Preliminaries

In the sequel, we use the following results:

Definition 2.1 ([10]). An almost distributive lattice is an algebra $A = (A, \lor, \land, 0)$ satisfying the following conditions:

- (i) $0 \wedge r = 0$,
- (ii) $r \lor 0 = r$,
- (iii) $r \wedge (s \lor t) = (r \land s) \lor (r \land t)$,
- (iv) $r \lor (s \land t) = (r \lor s) \land (r \lor t)$,
- (v) $(r \lor s) \land t = (r \land t) \lor (s \land t)$,
- (vi) $(r \lor s) \land s = s$,

for all r, s and $t \in A$.

Let $x, y \in A$, we read x is less than or equal to y and we write $x \le y$ if $x \land y = x$, equivalently $x \lor y = y$. An element $m \in A$ is maximal if $m \le x$ implies m = x.

Lemma 2.2 ([7]). Consider an ADL A and $m, s \in A$, where m is maximal. The following are equivalent:

- (i) *m* is maximal with respect to \leq ,
- (ii) $m \lor s = m$,
- (iii) $m \wedge s = s$,
- (iv) $s \lor m$ is maximal.

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 1169–1180, 2022

Definition 2.3 ([7]). Let *F* be a nonempty subset of an ADL *A*. Then *F* is called a filter of *A*, if for all $p, q \in F$ and $t \in A$; $p \land q \in F$ and $t \lor p \in F$.

Definition 2.4 ([3]). Let $(A, \lor, \land, 0, 1)$ be a bounded distributive lattice and $^{\circ}$ is a unary operation that satisfies:

- (i) $1^{\circ} = 0$,
- (ii) $(p \wedge q)^\circ = p^\circ \vee q^\circ$,
- (iii) $p \leq p^{\circ \circ}$,

for all $p, q \in A$. Then an algebra $(A, \lor, \land, \circ, 0, 1)$ of type (2, 2, 1.0.0) is called an MS-algebra.

Lemma 2.5 ([4]). Let A be an MS-algebra and $p, q \in A$. Then

(i) $0^\circ = 1$,

(ii)
$$p \le q \Rightarrow q^{\circ} \le p^{\circ}$$
,

(iii)
$$p^{\circ\circ\circ} = p^{\circ}$$
,

(iv)
$$(p \lor q)^\circ = p^\circ \land q^\circ$$
,

(v)
$$(p \lor q)^{\circ \circ} = p^{\circ \circ} \lor q^{\circ \circ}$$
,

(vi)
$$(p \wedge q)^{\circ \circ} = p^{\circ \circ} \wedge q^{\circ \circ}$$
.

Definition 2.6 ([1]). Let $(M, \lor, \land, 0)$ be an ADL with maximal elements and a unary operation $t \mapsto t^{\circ}$ on M satisfying the following:

(i) $p^{\circ\circ} \wedge p = p$,

(ii)
$$(p \lor q)^\circ = p^\circ \land q^\circ$$
,

(iii)
$$(p \wedge q)^\circ = p^\circ \vee q^\circ$$
,

(iv)
$$m^\circ = 0$$

for a maximal element *m* and $p, q \in M$. Then the algebra $(M, \lor, \land, \circ, 0)$ of type (2, 2, 1, 0) is called an MS-almost distributive lattice (MS-ADL).

Lemma 2.7 ([1]). For any elements r and s of an MS-ADL M the following conditions hold:

(i) 0° is maximal,

(ii)
$$r \leq s \Rightarrow s^{\circ} \leq r^{\circ}$$
,

(iii)
$$r^{\circ\circ\circ} = r^{\circ}$$
,

(iv)
$$(r \wedge s)^{\circ\circ} = r^{\circ\circ} \wedge s^{\circ\circ}$$
,

(v)
$$(r \lor s)^{\circ\circ} = r^{\circ\circ} \lor s^{\circ\circ}$$
,

- (vi) $(r \wedge m)^\circ = r^\circ$,
- (vii) $(r \wedge s)^\circ = (s \wedge r)^\circ$.

Let *D* be a filter of an MS-algebra *A*. Rao in [8] defined that *D* is said to be an *e*-filter of *A* whenever $D = D^e$, where $D^e = \{s \in A \mid t^\circ \land s^\circ = s^\circ \text{ for some } t \in A\}$.

Definition 2.8. Let *D* be a filter in an MS-ADL *M*. Define $D^e = \{r \in M \mid s^o \land r^o = r^o \text{ for some } s \in M\}$.

Theorem 2.9. Consider a filter D of an MS-ADL M. The following are equivalent:

- (i) D is an e-filter,
- (ii) For $r \in M$, $r^{oo} \in D$ implies $r \land m \in D$,
- (iii) For all $r, s \in M$, $r^o = s^o$ and $r \in D$ implies $s \in D$.

The concept of β -filter of MS-algebra is given by Rao [8]. Next, we extend the concept of this filter to β -filters of MS-ADLs. We consider an MS-ADL that contains more than one maximal elements and define its booster. In MS-ADL the commutativity of " \lor and \land ", and the right distributivity of " \lor " over " \land " do not hold. That is why even if some of the results seems to be similar, the proofs are not.

3. β -Filters of MS-ADLs

The idea of boosters and β -filters in MS-ADL *M* are introduced in this section. Characterization of β -filters of *M* in terms of boosters is also given.

Throughout the sequel M represents an MS-ADL.

Definition 3.1. For any $r \in M$, the booster of *r* is defined as follows:

 $(r)^+ = \{s \in M \mid r^o \lor s \text{ is maximal in } M\}.$

Clearly, $(0)^+ = M$ and $(m)^+ = \{s \in M \mid s \text{ is maximal in } M\}$.

Lemma 3.2. For any $t \in M$, $(t)^+$ is a filter of M.

Proof. Assume *n* be a maximal element in *M*. Using Lemma 2.2(iv) for any $r \in M$, $r \vee n$ is a maximal element of *M*. Now, for any $t \in M$, $t^o \vee n$ is maximal. Hence $n \in (t)^+$. That is $(t)^+$ is non empty. Let $r, s \in (t)^+$, then $t^o \vee r$ and $t^o \vee s$ are maximal. Thus, we obtain that $t^o \vee (r \wedge s) = (t^o \vee r) \wedge (t^o \vee s) = t^o \vee s$ so that $t^o \vee (r \wedge s)$ is maximal. Hence $r \wedge s \in (t)^+$. Now, let $r, u \in M$, and $s \in (t)^+$. Consequently we get

$$[t^{o} \lor (r \lor s)] \land u = [(t^{o} \lor r) \lor s] \land u$$
$$= [(t^{o} \lor r) \land u] \lor (s \land u)$$
$$= [(r \lor t^{o}) \land u] \lor (s \land u)$$
$$= [(r \lor t^{o}) \lor s] \land u$$
$$= [r \lor (t^{o} \lor s)] \land u$$
$$= u.$$

So that $t^o \lor (r \lor s)$ is maximal and hence $r \lor s \in (t)^+$. Therefore, $(t)^+$ is a filter in *M*.

Lemma 3.3. Let $r, s, t \in M$. Then the following conditions hold:

(i)
$$(s \lor t)^{+} = (t \lor s)^{+}$$
,
(ii) $(s \land t)^{+} = (t \land s)^{+}$,
(iii) $s \le t \Rightarrow (t)^{+} \subseteq (s)^{+}$,
(iv) $s^{o} = t^{o} \Rightarrow (s)^{+} = (t)^{+}$,
(v) $(s \lor t)^{+} = (s)^{+} \cap (t)^{+}$,
(vi) $(s)^{+} = (t)^{+} \Rightarrow (s \land r)^{+} = (t \land r)^{+}$ for all $r \in M$,
(vii) $(s)^{+} = (t)^{+} \Rightarrow (s \lor r)^{+} = (t \lor r)^{+}$ for all $r \in M$,
(viii) $(r)^{+} = M$ iff $r = 0$.

Proof. (i) Let $p, q \in M$. Then

$$p \in (s \lor t)^{+} \Leftrightarrow (s \lor t)^{o} \lor p \text{ is maximal}$$

$$\Leftrightarrow [(s \lor t)^{o} \lor p] \land q = q$$

$$\Leftrightarrow [(s^{o} \land t^{o}) \lor p] \land q = q$$

$$\Leftrightarrow [(s^{o} \lor p) \land (t^{o} \lor p)] \land q = q$$

$$\Leftrightarrow [(t^{o} \lor p) \land (s^{o} \lor p)] \land q = q$$

$$\Leftrightarrow [(p \lor t^{o}) \land (p \lor s^{o})] \land q = q$$

$$\Leftrightarrow [(t^{o} \land s^{o}) \lor p] \land q = q$$

$$\Leftrightarrow [(t \lor s)^{o} \lor p] \land q = q$$

$$\Leftrightarrow [(t \lor s)^{o} \lor p] \land q = q$$

$$\Leftrightarrow [(t \lor s)^{o} \lor p] \land q = q$$

$$\Leftrightarrow [(t \lor s)^{o} \lor p] \land q = q$$

Hence $(s \lor t)^+ = (t \lor s)^+$.

(ii) Apply the same procedure as (i).

(iii) Let $s \le t$ and $x \in (t)^+$. Then $t^o \le s^o$ and $t^o \lor x$ is maximal. It is important to note that $t^o \le s^o$ does not imply $t^o \lor x \le s^o \lor x$. But $(s^o \lor x) \land (t^o \lor x) = ((s^o \lor x) \land t^o) \lor ((s^o \lor x) \land x) = ((s^o \land t^o) \lor (x \land t^o)) \lor x = (t^o \lor (x \land t^o)) \lor x = ((t^o \lor x) \land t^o) \lor x = ((x \lor t^o) \land t^o) \lor x = t^o \lor x$ which indicates that $s^o \lor x$ is maximal. Therefore $x \in (s)^+$.

(iv) It is direct.

(v) Clearly, $s \le s \lor t$, but it is not necessarily true that $t \le s \lor t$. For the former case by (iii) it is obvious that $(s \lor t)^+ \subseteq (s)^+$. Since $t \le t \lor s$ we have $(t \lor s)^+ \subseteq t^+$. From (i) we obtain that $(s \lor t)^+ = (t \lor s)^+ \subseteq t^+$. Hence $(s \lor t)^+ \subseteq t^+$. Therefore $(s \lor t)^+ \subseteq (s)^+ \cap (t)^+$.

Let $x \in (s)^+ \cap (t)^+$. Then $s^o \lor x$ and $t^o \lor x$ are maximal elements of M. Then for any $y \in M$, we get $((s \lor t)^o \lor x) \land y = ((s^o \land t^o) \lor x) \land y = ((s^o \lor x) \land (t^o \lor x)) \land y = (t^o \lor x) \land y = y$. Hence $(s \lor t)^o \lor x$ is maximal and therefore $x \in (s \lor t)^+$. That indicates that $(s)^+ \cap (t)^+ \subseteq (s \lor t)^+$.

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 1169–1180, 2022

(vi) Let $(s)^+ = (t)^+$ and $x \in (s \wedge r)^+$. Then $(s \wedge r)^o \vee x$ is maximal. Thus, for any $y \in M$, $[(s \wedge r)^o \vee x] \wedge y = [(s^o \vee r^o) \vee x] \wedge y = y$. Next, for any $e, f, g, h \in M$ we apply one of the most important properties of an ADL, i.e., $[(e \vee f) \vee g] \wedge h = [e \vee (f \vee g)] \wedge h$ and we obtain $[s^o \vee (r^o \vee x)] \wedge y = [(s^o \vee r^o) \vee x] \wedge y = y$. This shows that $s^o \vee (r^o \vee x)$ is maximal and thus $r^o \vee x \in (s)^+ = (t)^+$. This in turn implies that $t^o \vee (r^o \vee x)$ is maximal. Now take $d \in M$, we get $[t^o \vee (r^o \vee x)] \wedge d = d$. Consequently, we get $[(t \wedge r)^o \vee x] \wedge d = [(t^o \vee r^o) \vee x] \wedge d = d$ which shows that $(t \wedge r)^o \vee x$ is maximal and $x \in (t \wedge r)^+$. Hence $(s \wedge r)^+ \subseteq (t \wedge r)^+$. Also, $(t \wedge r)^+ \subseteq (s \wedge r)^+$ so that $(s \wedge r)^+ = (t \wedge r)^+$.

(vii) Let $(s)^+ = (t)^+$ and $x \in (s \lor r)^+$. Then $(s \lor r)^o \lor x$ is maximal. So, for any $y \in M$, $[(s \lor r)^o \lor x] \land y = [(s^o \land r^o) \lor x] \land y = y$. Then $[(s^o \lor x) \land (r^o \lor x)] \land y = y$. Thus $(s^o \lor x) \land (r^o \lor x)$ is maximal. From the fact that $x \land y$ is maximal implies y is maximal we get $r^o \lor x$ is maximal. Also, as $[(r^o \lor x) \land (s^o \lor x)] \land y = [(s^o \lor x) \land (r^o \lor x)] \land y = y$, $(r^o \lor x) \land (s^o \lor x)$ is maximal and we get $s^o \lor x$ is also maximal. Thus $x \in (s)^+ = (t)^+$ which shows that $t^o \lor x$ is maximal. Hence for any $z \in M$, $[(t^o \lor x) \land (r^o \lor x)] \land z = z$. So $[(t^o \land r^o) \lor x] \land z = z$, which implies that $[(t \lor r)^o \lor x] \land z = z$. Thus $(t \lor r)^o \lor x$ is maximal and hence $x \in (t \lor r)^+$. Therefore, $(s \lor r)^+ \subseteq (t \lor r)^+$. Likewise, $(t \lor r)^+ \subseteq (s \lor r)^+$ so that $(s \lor r)^+ = (t \lor r)^+$.

(viii) It is clear.

In the next theorem we showed that the collection $B_0(M)$ of all boosters in M is a distributive lattice.

Theorem 3.4. $B_0(M)$ is a bounded distributive lattice.

Proof. Obviously, $B_0(M)$ is a poset with respect to " \subseteq ". Let $(e)^+$ and $(f)^+$ are boosters of M. From (v) of Lemma 3.3 we have $(e)^+ \cap (f)^+ = (e \vee f)^+$ which shows that $(e \vee f)^+$ is the lower bound of both $(e)^+$ and $(f)^+$ Now define the operations \sqcup by $(e)^+ \sqcup (f)^+ = (e \land f)^+$. Let $(c)^+$ be a lower bound for both $(e)^+$ and $(f)^+$. Let $x \in (c)^+$. Clearly, $x \in (e)^+$ and $x \in (f)^+$. Then $e^{o} \lor x$ and $f^{o} \lor x$ are maximal. Hence for any $y \in M$, $(e^{o} \lor x) \land y = y$ and $(f^{o} \lor x) \land y = y$. Then $[(e \lor f)^o \lor x] \land y = [(e^o \land f^o) \lor x] \land y = [(e^o \lor x) \land (f^o \lor x)] \land y = y$. This shows that $(e \lor f)^o \lor x$ is maximal. Hence $x \in (e \lor f)^+$ so that $(c)^+ \subseteq (e \lor f)^+$. Therefore, $(e \lor f)^+$ is the infimum of $(e)^+$ and $(f)^+$. Clearly, $(e \wedge f)^+$ is the upper bound of both $(e)^+$ and $(f)^+$. Let $(c)^+$ be an upper bound for both $(e)^+$ and $(f)^+$. Let $(e)^+ \subseteq (c)^+$, $(f)^+ \subseteq (c)^+$ and $x \in (e \land f)^+$. Thus $(e^o \lor f^o) \lor x = (e \land f)^o \lor x$ is maximal. Hence for any $y \in M$, $[f^o \lor (e^o \lor x)] \land y = [(e^o \lor f^o) \lor x] \land y = y$. Consequently, $f^o \lor (e^o \lor x)$ is maximal which indicates that $e^{o} \lor x \in (f)^{+} \subseteq (c)^{+}$. Thus $c^{o} \lor (e^{o} \lor x)$ is maximal and for any $y \in M$, $[e^{\circ} \lor (c^{\circ} \lor x)] \land y = [c^{\circ} \lor (e^{\circ} \lor x)] \land y = y$. Thus $e^{\circ} \lor (c^{\circ} \lor x)$ is maximal and so $c^{\circ} \lor x \in (e)^{+} \subseteq (c)^{+}$. Hence $c^o \lor (c^o \lor x)$ is maximal. Then, for any $y \in M, (c^o \lor x) \land w = [c^o \lor (c^o \lor x)] \land w = w$ so that $c^{o} \lor x$ is maximal and $x \in (c)^{+}$. Hence $(e \land f)^{+}$ is supremum of $(e)^{+}$ and $(f)^{+}$ in $B_{0}(M)$. Therefore, $(B_0(M), \cap, \sqcup, (m)^+, M)$ is a bounded lattice.

Consider elements *m* and *t* of an MS-ADL *M*, where *m* is maximal. Clearly, $t^o \lor m$ is maximal and hence $m \in t^+$. Following this, we have the next result.

Corollary 3.5. An MS-ADL M has a maximal element if and only if $B_0(M)$ has a smallest element. Also, M is dual homomorphic to $B_0(M)$.

Proof. Let *m* be a maximal element of *M*. Then $(m)^+ = \{m\} \subseteq (b)^+$ for any $(b)^+ \in B_0(M)$. Conversely, if we assume that $(s)^+$ is the smallest element of $B_0(M)$, there exists $t \in (s)^+$ such that $s^o \lor t$ is maximal in *M*. Conversely, assume that the class $B_0(M)$ of all boosters of an MS-ADL *M* has a smallest element. For any $b \in M$ define a map $\alpha : M \to B_0(M)$ by $\alpha(b) = (b)^+$. Clearly, $\alpha(0) = (0)^+ = M$ and for any $s, t \in M$, $\alpha(s \lor t) = (s \lor t)^+ = (s)^+ \cap (t)^+ = \alpha(s) \cap \alpha(t)$. Similarly, $\alpha(s \land t) = (s \land t)^+ = (s)^+ \sqcup (t)^+ = \alpha(s) \sqcup \alpha(t)$. Then α is a dual homomorphism.

Definition 3.6. Let *F* be a filter of *M* and *I* be an ideal of $B_0(M)$. Define operators β and $\overline{\beta}$ respectively by

 $\beta(F) = \{(r)^+ \mid r \in F\}$ and $\overleftarrow{\beta}(I) = \{r \in M \mid (r)^+ \in I\}.$

Lemma 3.7. For any filters D, J and K of M, and for any ideals I and J of $B_0(M)$, the following conditions hold:

- (i) $\beta(J \cap K) = \beta(J) \cap \beta(K)$,
- (ii) $\overleftarrow{\beta}(I \cap J) = \overleftarrow{\beta}(I) \cap \overleftarrow{\beta}(J)$,
- (iii) $\overleftarrow{\beta} \beta(J \cap K) = \overleftarrow{\beta} \beta(J) \cap \overleftarrow{\beta} \beta(K),$
- (iv) $\beta(D)$ is an ideal of $B_0(M)$,
- (v) $\overline{\beta}(I)$ is a filter of M,
- (vi) β and $\overleftarrow{\beta}$ are isotone.

Proof. (1) Suppose *J* and *K* are filters of *M*. For any $(t)^+ \in \beta(J) \cap \beta(K)$ we obtained that $(d)^+ = (t)^+ \in \beta(J)$ for some $d \in J$ and $(e)^+ = (t)^+ \in \beta(K)$ for some $e \in K$. Clearly, $d \lor e \in J \cap K$. Thus $(t)^+ = (d)^+ \cap (e)^+ = (d \lor e)^+ \in \beta(J \cap K)$. Hence $\beta(J) \cap \beta(K) \subseteq \beta(J \cap K)$. On the other hand, take $(t)^+ \in \beta(J \cap K)$ so that $(t)^+ = (d)^+$ for some $d \in J \cap K$. Thus $(T)^+ = (d)^+$ for some $d \in J$ and $d \in K$. So, $(t)^+ \in \beta(J)$ and $(t)^+ \in \beta(K)$. Hence $(t)^+ \in \beta(J) \cap \beta(K)$. Therefore $\beta(J \cap K) \subseteq \beta(J) \cap \beta(K)$. (2) For any $t \in \overleftarrow{\beta}(I \cap J)$, $(t)^+ \in I \cap J$. Thus by (1) we obtain that $(t)^+ \in \beta(I \cap J) = \beta(I) \cap \beta(J)$ so that $(t)^+ = (i)^+$ and $(t)^+ = (j)^+$ for some $i \in I$ and $j \in J$. Then $(t)^+ \in \beta(I)$ and $(t)^+ \in \beta(J)$. Therefore $t \in \overleftarrow{\beta}(I)$ and $t \in \overleftarrow{\beta}(J) \cap K$, $(p)^+ \in \beta(J \cap K)$. From (1) we have $(p)^+ \in \beta(J) \cap \beta(K)$. Since $\beta(J)$ and $\beta(K)$ are ideals of $B_0(M)$, we have $p \in \overleftarrow{\beta}\beta(J)$ and $\overleftarrow{\beta}\beta(K)$. Then $p \in \overleftarrow{\beta}\beta(J) \cap \overleftarrow{\beta}\beta(K)$. Whence $\overleftarrow{\beta}\beta(J \cap K) \subseteq \overleftarrow{\beta}\beta(J) \cap \overleftarrow{\beta}\beta(K)$. Following the same procedure one can easily show the converse holds.

(4) Take a filter D in M. Since $m \in D$, $(m)^+ \in \beta(D)$. Take $(s)^+, (t)^+ \in \beta(D)$. Then $s, t \in D$ so that $s \wedge t \in D$. It follows that $(s)^+ \sqcup (t)^+ = (s \wedge t)^+ \in \beta(D)$. For any $r \in M$ we have $r \lor s \in D$ and $(r)^+ \in B_0(M)$. Then using Lemma 3.3(1), $(s)^+ \cap (r)^+ = (s \lor r)^+ = (r \lor s)^+ \in \beta(D)$. Therefore, $\beta(D)$ is an ideal in $B_0(M)$.

(5) Consider an ideal I of $B_0(M), r \in M$ and $s, t \in \overleftarrow{\beta}(I)$. Thus $(s)^+, (t)^+ \in I$. Then $(s \wedge t)^+ = (s)^+ \sqcup (t)^+ \in I$. Hence $s \wedge t \in \overleftarrow{\beta}(I)$. Also, $(r \vee s)^+ = (s \vee r)^+ = (s)^+ \cap (r)^+ \in I$. So $r \vee s \in \overleftarrow{\beta}(I)$. So, $\overleftarrow{\beta}(I)$ is a filter of M.

(6) Take two ideals J and K of M so that $J \subseteq K$. Let $j \in \overleftarrow{\beta}(J)$. Then $(j)^+ \in J \subseteq K$. It follows that $j \in \overleftarrow{\beta}(K)$ and hence $\overleftarrow{\beta}(J) \subseteq \overleftarrow{\beta}(K)$. Which shows that $\overleftarrow{\beta}$ is an isotone. The same is true for β . \Box

Lemma 3.8. Consider the lattice of filters in MS-ADL M. Let D and E are filters in M. Then the map $D \mapsto \overleftarrow{\beta} \beta(D)$ is a closure operator. That is,

- (i) $D \subseteq \overleftarrow{\beta} \beta(D)$,
- (ii) $F \subseteq E$ implies $\overleftarrow{\beta} \beta(D) \subseteq \overleftarrow{\beta} \beta(E)$,
- (iii) $\overline{\beta} \beta \{\overline{\beta} \beta(D)\} = \overline{\beta} \beta(D).$

The intersection of filters is a filter and for any filter *D* of *M*, $r \lor s \in D$ if and only if $s \lor r \in D$. Following this we have the next theorem:

Theorem 3.9. β is a homomorphism between the lattice of filters of M and the lattice of ideals of $B_0(M)$.

Proof. Let *D* and *E* are filters of *M*. Clearly, from Lemma 3.7 $\beta(D \cap E) = \beta(D) \cap \beta(E)$ and $\beta(D) \sqcup \beta(E) \subseteq \beta(D \lor E)$. On the other hand, if $(s)^+ \in \beta(D \lor E)$, then $(s)^+ = (t)^+$ for some $t \in D \lor E$. Hence, $t = d \land e$ for some $d \in D$ and $e \in E$. Thus $(s)^+ = (t)^+ = (d \land e)^+ = (d)^+ \sqcup (e)^+ \in \beta(D) \sqcup \beta(E)$. So, $\beta(D \lor E) \subseteq \beta(D) \sqcup \beta(E)$. Therefore, β is a homomorphism between the lattice of filters(ideals) of $M(B_0(M))$.

Definition 3.10. Any filter *D* in *M* is called β -filter whenever $\overleftarrow{\beta} \beta(D) = D$.

Theorem 3.11. Every maximal filter is a β -filter.

Proof. Let *N* be a maximal filter in *M*. Then from (1) of Lemma 3.8 we get $N \subseteq \overline{\beta} \beta(N)$. Now, let $y \in \overline{\beta} \beta(N)$. Then $(y)^+ \in \beta(N)$. Thus $(y)^+ = (n)^+$ for some $n \in N$. Suppose $y \notin N$. Then $N \vee [y] = M$ and hence $b \wedge y = 0$ for some $b \in N$. Thus $y \wedge b = 0$ so that $y^o \vee b^o = (y \wedge b)^o = 0^o$ is maximal, which yields that $b^o \in (y)^+ = (n)^+$. Therefore $n^o \vee b^o$ is maximal. Hence $b^{oo} \wedge n^{oo} = (b^o \vee n^o)^o = (n^o \vee b^o)^o = 0$. Since $b^{oo}, n^{oo} \in N$, we get $0 = b^{oo} \wedge n^{oo} \in N$, which is a contradiction. Hence $y \in N$. Thus $\overline{\beta} \beta(N) \subseteq N$. This proves the theorem.

Corollary 3.12. A maximal β -filter in M is a maximal filter.

Proof. For a maximal β -filter D and any β -filter E, $D \subseteq E \Rightarrow D = E$. Hence D is a maximal filter.

Theorem 3.13. A filter D of M is a β -filter iff for all $s, t \in M, (s)^+ = (t)^+$ and $s \in D$ implies $t \in D$.

Proof. If *D* is a β -filter of *M* and $s,t \in M$ be such that $(s)^+ = (t)^+$. Suppose $s \in D$. Then $(t)^+ = (s)^+ \in \beta(D)$. Since $\beta(D)$ is an ideal of $B_0(M), t \in \overleftarrow{\beta}\beta(D) = D$. Conversely, for any $s,t \in M$, let $(s)^+ = (t)^+$ and $s \in D$ implies $t \in D$. Then $D \subseteq \overleftarrow{\beta}\beta(D)$. Now, let $s \in \overleftarrow{\beta}\beta(D)$. Then $(s)^+ \in \beta(D)$. Hence, $(s)^+ = (t)^+$ for some $t \in D$. From the given assumption, we get $s \in D$ so that $\overleftarrow{\beta}\beta(D) \subseteq D$. This shows that *D* is a β -filter of *M*.

It is obvious that an MS-algebras are MS-ADLs. Next, we illustrate an *e*-filter of an MS-ADL is not necessarily a β -filter.

Example 3.14. Consider an MS-algebra $M = \{r, s, t, u, v, 1\}$ on which the binary operations \lor and \land are defined by Table 1a, and Table 1b respectively, and the unary operation ^o is defined by Table 1c as follows:

V	0	r	s	t	u	v	1	Λ	0	r	s	t	u	v	1									
0	0	r	s	t	u	v	1	0	0	0	0	0	0	0	0									
r	r	r	s	t	u	v	1	r	0	r	r	r	r	r	r									
s	s	s	s	t	u	v	1	s	0	r	s	s	s	s	s									
t	t	t	t	t	v	v	1	t	0	r	\mathbf{s}	t	\mathbf{s}	t	t									
u	u	u	u	v	u	v	1	u	0	r	\mathbf{s}	s	u	u	u									
v	v	v	v	v	v	v	1	v	0	r	s	t	u	v	v			0	r	s	t	u	v	1
1	1	1	1	1	1	1	1	1	0	1	1	1	1	1	1		0	1	v	v	t	u	s	0
(a)									(b)								(c)							

Table 1. Binary and unary operations defined on M

One can simply observe that, a set $A = \{1, v\}$, is *e*-filter of *M*, but not a β -filter of *M*.

Using the above Theorem, we show the relation between *e*-filters and β -filters of an MS-ADL.

Theorem 3.15. Every β -filter in M is an e-filter.

Proof. Let *D* be a β -filter in *M*. Then $\overleftarrow{\beta}\beta(D) = D$. *Claim*: *D* is *e*-filter in *M*. If $s^{\circ\circ} \in D$ then $s^{\circ\circ} \in \overleftarrow{\beta}\beta(D)$. This implies $(s^{\circ\circ})^+ = (t)^+$ for some $t \in D$. Since $(s \wedge m)^+ = (s^{\circ\circ})^+$, $(s \wedge m)^+ = (t)^+$ for some $t \in D$. Thus $s \wedge m \in D$. Hence *D* is an *e*-filters in *M*.

Theorem 3.16. Consider the set

 $\mathfrak{F} = \{J \mid B \subseteq J, B \text{ is a } \beta \text{-filter, } J \text{ is a prime filter of } M \}.$

If $J \in \mathfrak{F}$ is minimal, then J is a β -filter.

Proof. Let $J \in \mathfrak{F}$ be minimal and $B \subseteq J$ for some β -filter B of M. If J is not β -filter, then there exist $d, e \in M$ so that $(d)^+ = (e)^+, d \in J$ and $e \notin J$. Consider $I = (M - J) \lor (d \lor e]$. So $I \cap B = \emptyset$. On the other hand if we take $a \in I \cap B$. Then $a = b \lor c$ for some $b \in M - J$ and $c \in (d \lor e]$. Then $b \lor c = b \lor [(d \lor e) \land c] = (b \lor d \lor e) \land (b \lor c)$. Since $b \lor c \in B$ we have $b \lor d \lor e = (b \lor d \lor e) \lor (b \lor c) \in B$. From $(d)^+ = (e)^+$, we can get $(b \lor e)^+ = (b \lor d \lor e)^+$. Since B is a β -filter and $b \lor d \lor e \in B$, we get $b \lor e \in B \subseteq J$. It follows that $b \in J$ or $e \in J$, a contradiction. Thus $I \cap B = \emptyset$. Hence for some prime filter $P, I \cap P = \emptyset$ and $B \subseteq P$. Since $I \cap P = \emptyset$, one can get $P \subseteq J$. Further $e \lor d \notin P$ and $e \lor d \in J$. It shows that $P \subset J$. Hence J is not minimal in \mathfrak{F} containing B, a contradiction. So J is a β -filter in M.

Corollary 3.17. The set $\mathscr{F}_{\beta}(M)$ of all β -filters of M forms a distributive lattice.

Lemma 3.18. For any ideal J of $B_0(M)$, $\beta \overleftarrow{\beta}(J) = J$.

Proof. Let J be an ideal of $B_0(M)$. If $(s)^+ \in J$, then $s \in \overline{\beta}(J)$ so that $(s)^+ \in \beta \overline{\beta}(J)$. Thus $J \subseteq \beta \overline{\beta}(J)$. Conversely, if $(s)^+ \in \beta \overline{\beta}(J)$, then we get $(s)^+ = (t)^+$ for some $t \in \overline{\beta}(J)$. Also, $t \in \overline{\beta}(J)$ implies that $(s)^+ = (t)^+ \in J$ so that $\beta \overline{\beta}(J) \subseteq J$. Hence $\beta \overline{\beta}$ is a constant mapping on $B_0(M)$. \Box

Next we show that the set of β -filters of M (denoted by $\mathscr{F}_{\beta}(M)$) is isomorphic to the set of ideals of $B_0(M)$ (denoted by $I(B_0(M))$).

Theorem 3.19. There is an isomorphism of $\mathscr{F}_{\beta}(M)$ onto $I(B_0(M))$.

Proof. Assume α is the restriction of β to $\mathscr{F}_{\beta}(M)$. It follows that α is one-to-one. Take J be an ideal of $B_0(M)$ so that $\beta(J)$ is a filter of M. From Lemma 3.18 we get $\beta(J) = \beta(J) = \alpha(J) =$

$$\alpha\{\beta \beta(J \lor K)\} = \beta\{\beta \beta(J \lor K)\}$$
$$= \beta(J \lor K)$$
$$= \beta(J) \sqcup \beta(K)$$
$$= \alpha(J) \sqcup \alpha(K).$$

Therefore α is an isomorphism of $\mathscr{F}_{\beta}(M)$ onto $B_0(M)$.

Consequently, we have the next corollary.

Corollary 3.20. Prime β -filters in M are in correspondence with the prime ideals in $B_0(M)$.

Theorem 3.21. Every proper β -filter in M is the intersection of all prime β -filters containing it.

Proof. For a proper β -filter *D* in *M* consider the set

 $D_0 = \cap \{P \mid P \text{ is a prime } \beta \text{-filter and } D \subseteq P\}.$

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 1169–1180, 2022

Obviously, $D \subseteq D_0$. Let $d \notin D$ and $\Gamma = \{E \mid E \text{ is a } \beta\text{-filter}, D \subseteq E, d \notin E\}$. One can simply observe that $D \in \Gamma$ and Γ contains a maximal element, say N. Let $a, b \in M$ be such that $a \notin N$ and $b \notin N$. Then $N \subset N \lor [a] \subseteq \overleftarrow{\beta} \beta \{N \lor [a]\}$ and $N \subset N \lor [b] \subseteq \overleftarrow{\beta} \beta \{N \lor [b]\}$. Since N is maximal, we obtain that $d \in \overleftarrow{\beta} \beta \{N \lor [a]\}$ and $d \in \overleftarrow{\beta} \beta \{N \lor [b]\}$ so that $d \in \overleftarrow{\beta} \beta \{N \lor [a]\} \cap \overleftarrow{\beta} \beta \{N \lor [b]\} = \overleftarrow{\beta} \beta \{[N \lor [a]\} \cap [M \lor [b]]\} = \overleftarrow{\beta} \beta \{N \lor [a \lor b)\}$. If $a \lor b \in N$, then $d \in \overleftarrow{\beta} \beta (N) = N$, which is a contradiction. This shows that N is a prime β - filter such that $d \notin N$ and hence $d \notin D_0$.

Next, we give equivalent conditions on which the lattice $B_0(M)$ is relatively complemented. First we need to remember the following result.

Lemma 3.22 ([7]). An ADL is relatively complemented iff each prime ideal is maximal.

Theorem 3.23. The following conditions are equivalent on M.

- (i) $B_0(M)$ is relatively complemented,
- (ii) every prime β -filter is a maximal filter,
- (iii) every prime β -filter is minimal.

Corollary 3.24. If $B_0(M)$ is relatively complemented, then each β -filter is an intersection of all maximal filters.

4. Conclusion

The concepts of boosters and β -filters in MS-almost distributive lattices is introduced. We investigate the class of boosters in an MS-almost distributive lattice is a bounded distributive lattice. Characterization of β -filters of an MS-almost distributive lattice in terms of boosters is established. We derived a dual homomorphism between an MS-almost distributive lattice and the set of all boosters in MS-almost distributive lattice. Further, it is shown that any maximal filter in an MS-almost distributive lattice is a β -filter. Finally, the conditions on which the lattice of boosters is a relatively complemented lattice are given. We hope in the future, we study on boosters and filters on skew lattices and Heyting almost distributive lattices.

Competing Interests

The authors declare that they have no competing interests.

Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

References

- G. M. Addis, MS-almost distributive lattices, Asian-European Journal of Mathematics 13(7) (2020), 2050135 (14 pages), DOI: 10.1142/S1793557120501351.
- J. Berman, Distributive lattices with an additional unary operation, Aequationes Mathematicae 16 (1977), 165 171, DOI: 10.1007/BF01836429.
- [3] T. S. Blyth and J. C. Varlet, Ockham Algebras, Oxford Science Publications Series, Oxford University Press, 256 pages (1994).
- [4] T. S. Blyth and J. C. Varlet, On a common abstraction of de Morgan algebras and Stone algebras, Proceedings of the Royal Society of Edinburgh Section A: Mathematics 94(3-4) (1983), 301 – 308, DOI: 10.1017/S0308210500015663.
- [5] T. S. Blyth and J. C. Varlet, Subvarieties of the class of MS-algebras, *Proceedings of the Royal Society* of Edinburgh Section A: Mathematics **95**(1-2) (1983), 157 169, DOI: 10.1017/S0308210500015869.
- [6] N. Rafi, R. K. Bandaru and S. N. Rao, δ-ideals in pseudo-complemented almost distributive lattices, Palestine Journal of Mathematics 5 (2016), 240 – 248, URL: https://pjm.ppu.edu/sites/default/files/ papers/PJM_Sep_2016_28.pdf.
- [7] G. C. Rao, *Almost Distributive Lattices*, Doctoral Thesis, Department of Mathematics, Andhra University, Visakhapatnam (1980).
- [8] M. S. Rao, β-Filters of MS-algebras, Asian-European Journal of Mathematics 5(2) (2012), 1250023, DOI: 10.1142/S1793557112500234.
- [9] M. S. Rao, e-Filters of MS-algebras, Acta Mathematica Scientia 33 (2013), 738 746, DOI: 10.1016/S0252-9602(13)60034-X.
- [10] U. M. Swamy and G. C. Rao, Almost distributive lattices, Journal of the Australian Mathematical Society (Series A) 31 (1981), 77 – 91, DOI: 10.1017/S1446788700018498.
- [11] U. M. Swamy, G. C. Rao and G. N. Rao, Pseudo-complementation on almost distributive lattices, Southeast Asian Bulletin of Mathematics 24 (2000), 95 – 104, DOI: 10.1007/s10012-000-0095-5.
- [12] U. M. Swamy, G. C. Rao and G. N. Rao, Stone almost distributive lattices, Southeast Asian Bulletin of Mathematics 27 (2003), 513 – 526, URL: https://web.p.ebscohost.com/abstract? direct=true&profile=ehost&scope=site&authtype=crawler&jrnl=01292021&AN=13103918& h=cFqO3q7L3MaK5c9pANGFq9pEfyAJ3n%2fsb6ViUySZse0o%2fyb1wboWT9u0LJI6A4dO% 2buIV5wY9jSw9S8MshKVPTA%3d%3d&crl=f&resultNs=AdminWebAuth&resultLocal= ErrCrlNotAuth&crlhashurl=login.aspx%3fdirect%3dtrue%26profile%3dehost%26scope%3dsite% 26authtype%3dcrawler%26jrnl%3d01292021%26AN%3d13103918.

